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BECOME A MEMBER

ON STEADY

Abstract Linear Algebra — Part ¢

subset of F(R) aiven by
cos: R—=>R ~> A
st R —=> R ~> —Pore
exp: R = R ~— ’i/\
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[A = SPaV\ ( cos, sin, exp)
generating \/

Question: 1Is (oos, sin, exp) a basis of W ?
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linearly independent L

We have to check: 0(1-003 + 0 -sin + {,-exp = 0 :> o(J. =0 for al j

— _——7

means: zero vector in }UK)
G .
0<1-COS(X) + 0(1.' sin(x)+ 0<3‘3XP(X) _ O(X) > 0 . R —> rK

X— ()
for all xelR

( 0<1- oos(O) + o, siV\(O)+ , - exp(()) =0
0(1- COS(%) + o, sin(I,L)+ 0(3- exp(%) =0
X cos(—17-500) + o, - sin(=1%-500) + oL exp(~1%-500) = 0
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LN W, system of
\> \ 0 1 c o, = 0 linear eguations
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Since deT(O 1 é"’l> = c,1°°°w+0+0—1 -0-0 < O,

the system of linear equations is uniguely solvable,

:—> X, = X, = oy = O :> //(COS/ sin, 6><P) basis of A
3

Basis isomorphism: @3: M —> RZ /

defied oy §(c02) = GD' CHCOR @) Do) - G’D

What about V: R% R | V(X) = 3 COS(X§+ zeXP(x>

@3@) = G) [ Ep——
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represented by R




